Sec 13.6
pgs. 635 - 636
#3-7o0dd,8,9,13,14

#3 Find the center, the radius, the diameter, vhe circumference,
and arex of +he ciecle

a- xz{, yz = 36 b‘ (x'3)3+ ‘yrb)2=|oo
Center: (0,0) Cenker : (3,-b)
us ‘b Radius : 1D
;:Jrlr:: 12 Diam . 20
C=2T(e)=121T C=2m(10) =20
A=360l A= loomT

2 3. 3.
da. 3.(.)(_*'—;-) + (J__'Z 1: 27
3 3

. (x+S)+ y’ - ?'_—

\gzz i/—'s,o) (x+5) + (g-z)zz gl
D m-ZZ’ Center: (-512)
e radius: 4
C 1"(3/1—) = 3T diameltts
= 8T
A= 8\T

4 Wrile eq,uwh'ow of aurde

(Ha(o
(’S‘o\ (o(o) \ m (g‘f) ‘. )
2
= 25 (x+4)2+y‘l= Vb [ x-5) *‘3“’)’=36

X’fﬂ



#5  Consider the equahon (x-3)"+ LyrZ)l:_n-

(-3)"+ (2+2) =17
|2’+ "l'z =17
=17 5es

a. |s (4.2) on the 9raph

- h 2
b. s (3 2-) on the grap (3-3)"+ (4+A)‘= "
01%—01-.'- ‘}
oFT No

#o a LX—3)1+ (3)")2;0 Point-Urde
b, (x+5)’+ 51: -100 \magwnary Cicde

#7 g

#¢ Pelemine the ecoua,h'on of each cirde
a. Thecenter isthe origin, and the circle passes through (0, -5) X’ +y =2S

b. The endpoints of adiameter (-2,1) and (8,25) (x'.?)z‘r (5"3)1= 169
2
rly-F)=56

c. Thecenter is(-1,7) and the circle passes through the origin (x+1 )2

) P
d. The center is(2, -3) and the circle passes through (3,0). (x’l)z M LH r3) =10



#9  \Undicake whethar the pount < wside, on, or outsid e
the CaRcle.

b. (3,0) % +Y =100

A 15); X+y =29
(3)*+ (0)°< 100

314";2 =29
a4 = a9V Q<100
owN nside
c. On‘g’m: (x-z)z»‘ (9“;)1:1@ d. (-z.') X + (”1—6)1:23
2 2
(._2)74_ (;)27 o (-2)+ (146) = &3
g4 + 7% = 23
4+25 7 b
53 =23

aq4 7 lb outside outside

#3  Jund the distance betueen the points of wnkersechion of the
%mf’h of % 4—”:!7 and X *Y =3

=3-X
4 (3-%)’= 1 F 4
xz»(‘l-—b)( "’Xz; I+ ?ome (""n'l)
2,/ -Q = (-t,*%)
2y-bx -8 =0
2 _ -4 :0
2 Lx"-3% ) d= \r(%l)’*(‘-lﬂ)’
2()(-“[’)()(""):0
(=4 -1 d=d g2+s?
' d= \I 50

=5 (



a.EQuahom of mjw b

arcle at (0.8)
Moq - 4 _ &
PQ -3 3
(6.8)
(3,4)

-3 - ="2LX"‘0)
Lm= 3 \rﬂs 4

b. Carcumference d= \r(8-4)’+(b'3)1

d=  ¢+32
d'—\fﬁ
a= s
d=§5
c. Dist AQ
s3

P (6:8)
b0
3.+)
et A
([0,2—)
\Q: oL




